% 1 L R e
SRR

T — MK 1008
(] 3 3K 614

KB MR UTE - MEEERALTOAS O, AFHEIFL T LEH100%IZFEYEE A,




B1-O HLt-nHERiE?

A% | Bk

Bt 41| 67.2%
=4 18] 29.5%

B Z <AL 2 3.3%
EREZE 0 0%
&t 61 100%

it 29.5%

B 67.2%

B1-Q HE-DFEIE?

A% | Bk

20i% K i 2 3.3%
205% X 8]  13.1%
30i% L 10| 16.4%
405% 1 10[  16.4%
50% 1% 17)  27.9%
607% X 71 11.5%
70i% LA E 4 6.6%
‘O E 3 4.9%
&t 61 100%

20/% i
| 33%

20/ 13.1%

60/% 1t 11.5%

30i% 1 16.4%

S50i% X 27.9%

40i% X 16.4%

B1-@ HET-DEEE?

A% | Bk

4 5 8.2%
=HE 25  41.0%
HEZX 8]  13.1%
NBE 1 1.6%
Fig-EX 7| 11.5%
TNk 2 3.3%
Z D 4 6.6%
‘O E 9|  14.8%
&t 61 100.0%

ZD1th 6.6%

TILINA 3.3%

=S

24 8.2%
O % 14.8%

FiF-FXK 11.5% 23t 8 41.0%

_ BE% 13.1%
B8 1.6%




E1-@ ELLICHEFEFENTTM?

A% | #Emk

BEETH 42|  68.9%

ZEEHH 191 31.1%
O] & 0 0.0% ZEMH 31.1%

&t 61| 100.0%

FZEETN 68.9%

E1-@-1 BEETHOELLICHEEFNTT,?

HEEE 2.4%

A | ekt
E5 14| 33.3%
& 4 9.5% £ A 16.7%
Gl 2 4.8%
HWE 9| 21.4%
=5 5[ 11.9% BB 11.9%
£A 7| 16.7%
f&El 0 0.0%
REE ! 24% B 21.4%
&t 42| 100.0% Il

4.8%

E4% 33.3%

7#&i10 9.5%

E1-@-2 EETHOELLICHEEFNTI,?

BREM(28). BXHT(1R). EET(14&). EE)IIAT(14)
K (14)

ERRMEHT(18), SHERARH(1R), ERRARET(14)
BERREEHH(R), BHRERT(148), BEARABXT(148)
fBERIEAMT(18). BERFEHT(1R) WAETEAT(14)
BRARBRATHOR) BAREAT(IR) . BERINAHOR)
RR#(14)




2 §BIX, EL-ERATHG L2 LVELE=M?

A | Bkt
—AT 18] 29.5% I C 18.0%
REL 13 21.3%
XIBT 19| 31.1% —Ac 5%
RIET 1] 18.0%
T DAt 0 0.0%
ERE 0 0.0% FIRT31.1%
&t 61| 100.0%
RiEE213%
maer DG B A
3 HLf-AEICFIAShIHEREEA TSN, (FEHEE)
T=Ra—hE
AR—YiEE%
A# | ¥t 3.8%
a7T=> 9 11.4% 37— 11.4%
*r 5 31 39.2%
A BHEE 36 45.6%
F=RA—NERBE—IEH 3 3.8%
ZOth 0 0.0% ABHEE 45.6%
A 0 0.0% *r2 715 39.2%
&t 79[ 100.0%

4 COMEHRZFIALTVSEMEATE A ? EHEET)

N i mRIEDR [ TOHE3.8%
AR | ALt MBIRELE 2.5% T 5.1%
FyvoJ 25| 31.6% 2y
FRAT 10]  12.7% R 6.3%
ySHE—ay 30  38.0%
AR—YEK 5 6.3% 0T 31.6%
R K B ik 2 2.5%
=k Fin 4 5.1%
0,
xaolivl 3 3.8% S
|EmEE 0 0.0% 38.0%
RIT 12.7%
&t 79| 100.0%

Ot RRERHER(1)
ZEa0)




f5-O AR (FroTB-3T—2)DHEREL?

A E 5.0%

A | Bkt
i B 15  37.5%
PYRER 17| 42.5% Bl 15.0%
=R 6| 15.0% R 37.5%
POFEE 0 0.0%
TR 0 0.0%
A 5 5 0% O E 42.5%
&t 40| 100.0%
fE5-@ ABHEROHEHRTEIL?
A# | HRE
i 8|  22.2% 3E 16.7%
PP 22| 61.1% e 22.2%
=R 6]  16.7%
POFEE 0 0.0%
TR 0 0.0%
AREIE 0 0.0% PR 61.1%
&t 36| 100.0%
B5-@ T=RaA—FERR—YHEROHEFTIE?
A% | Bk
i B 1] 33.3%
POERE 2| 66.7%
Ei& 0 0.0% 2 33.3%
POFEE 0 0.0%
i 0 0.0%
PO E 66.7%
‘O E 0 0.0%
&t 3| 100.0%




fEe-O MBEEDNHEE(RFVIDEEMEDLSE)E?

A | Bkt
i B 38|  62.3% i 160
POFEE 13 21.3%
=R 10 16.4%
POFEE 0 0.0% .
R R 0 0.0% PR 21.3% |
7 0 0.0% R 62.3%
&t 61| 100.0%
fH6-@ MEREEDHRE(PHIAAEZOENS)IX?
BOFHR 3.3%
A% | Bk
i 2 24| 39.3%
POERE 21| 34.4%
=il 12 19.7% 38 19.7% S
POFEE 2 3.3%
i 0 0.0%
‘O E 2 3.3%
O E 34.4%
&t 61 100.0%
B6-Q MEHEENHEE(RFIVINREERICHTIEHDOES)IE?
|EE 1.6%
A | ekt
i B 26|  42.6%
POERE 22| 36.1% & 19.7%
=il 12 19.7%
POFEE 0 0.0% IR A6
i 0 0.0%
‘O E 1 1.6% O E 36.1%
&t 61 100.0%




f6-@ MEENHEE GEEFONBTNIERXS)IET?

A | Bkt
2 12 19.7% R 19.7%
POFEE 10| 16.4%
=R 10 16.4%
A E 44.3%
POFEE 2 3.3%
0 E 16.4%
TR 0 0.0%
ERE 27| 44.3%
&t 61| 100.0%
& 16.4%
BOTHER 3.3%
F7-0O mmERE0HREE (BHARBEOHSLI)IE?
A | ekt
S 10|  16.4% EE 16.4% R 16.4%
POFEE 41| 67.2%
=R 10 16.4%
POFEE 0 0.0%
TR 0 0.0%
ERE 0 0.0%
&t 61| 100.0%
PR 67.2%
H7-@ MEEREOHRE EROFRE)F?
A% | Bk
i 16]  26.2% 23F 18.0%
A0 B 34| 55.7% 5 26 20
=il 1] 18.0%
POFEE 0 0.0%
i 0 0.0%
‘O E 0 0.0% X0 R 55.7%
&t 61 100.0%




M7-Q MERREOHEE(REDERLBDES)E?

POFEE MEE 1.6%
AB | HERE e
we 5 8.2% R 8.2%
POFEE 41| 67.2%
=R 12 19.7% iE 19.7%
POFEE 2 3.3%
TR 0 0.0%
ERE 1 1.6%
&t 61| 100.0% -
67.2%
H7-@ MEREREOHRE (EREROREM)X?
AR | R W E 11.5%
T 7] 11.5% % 18.0%
POERE 43| 70.5%
=il 1] 18.0%
POFEE 0 0.0%
i 0 0.0%
REE 0 0.0% A B 70.5%
&t 61 100.0%

B7-C MRS EOHEE(RARTOINMYOTE)IT?

OO E
3.3%
A | ekt
i B 8]  13.1% R 13.1%
POERE 41 67.2% % 16.4%
=i 10 16.4%
POFE R 2 3.3%
TR 0 0.0%
ERE 0 0.0%
& 61| 100.0%

PR
67.2%




18 S#.ENISILEEETEHAFIMN?

) REAEE
ABL L BRUE | o sy I s
MR DEE-AEQELDFEE 23] 37.7%| FHEEDE T LT 16%
RAsEHE LR '
EiR-EHEBICHEBLTARLL 20  32.8%| =4k 339

FIEABBOEER 3 4.9%

s . j 1ELVFEERF
FH-BREFHEOBRERESEE 2 3.3% AEenn
HEDPTOYSLEQRSR -KTE 0 0.0% AR L

EVWEEZFIREEDRE 11 18.0%
BEARELEBEHEENDEIR 1 1.6%
ARVNEDEE-FE 0 0.0%

wal2ki} 0 0.0% SRR

=Fiich

| 1 1.6% I

i LTHLLY
= 0

&t 611 1000%| _ ooon o
ER 4.9%

BEAMAGRERNE 2T —UTIRICEREMFTELL
HOFORE -FLEEPLTIELL
"4l ybEDFTIELL

B9 HLlf-ARBRLIEBHRDOBENLGEHRISOVNT—DEFEIZFLTESL,

BFIRECAEL FEEE 1.6%
3.3% |
A# | ¥Rk

LU EIZEM S 22 36.1%
HHEFEY o 25 41.0%

EhEHEot 1] 18.0% H’iﬁfft BRI

= B H oT=
BICRLAL 2 3.3% 36.1%
BLh ot 0 0.0%
| 1 1.6%
&t 61 100.0% HEREYTE T

41.0%




0@ SHHERICHIIMBEIRROIA L

BILWERNDZL DB O ATy —ARZENEFWTEY. FIALEADIFEAEN., BEHR
EOHEREEFIZDODVTHELTLV =L\ TLNS,

MERDRENEERIE. TEAFLIZULEICEM o1 TEFEY DB EMNTT.1%EEEED67.1%% L
BEl>THY., 5IEHmEFABLRD - HETETHIEEEE(CHFODEELIC, CNETULIZRIBAEISHE
ELTL\T:T:“H%&BI; MAZEDFEICEXEIT, IEEEEELEELEASF RAEEMIBHTNE
=LY,

® BEHER

BERELAZETVET, SELNDEENTT,

rALZEFEKIZLTHRLLY !

RBLREF YT TEFLL,

CREEENAKRETIESLLNTT !

HBEICFSAVY—RHNIXRLY,

HEMEYAa—1 !

CERBAHIDONKERINTT,

LDBHYNESITEVET . BRICAYDEBRTT,

BITARHLERNERVWET A HENRVLDTREALZNTT 13,

20FESYICEFEL =, ETHEMNLL ZFLTEAIZZFDOEETL =,

CHHSTEULVELR !

?’fml:)&%—*\—v/j‘ﬁ%’ﬁ“o BEAKRLEEEBNETAREZYIDERK. ChhDBrER> TS
ﬁo

REBUVMEIESESBAICRYEL, £ FT !

BEEFIWMOTEEL, BWIATT . MAKEZTL=.

MREBHZFEOLTIZLLY,




